1-when detecting a lesion you do all except :

a-look at the bone from the peripheral of the bone and work inwards.

b-Look around the outline of the cortex for a loss of continuity or periosteal reaction.

c-Look at the joints.

d-Look at the soft tissues for any mass or swelling.

2-Regarding the diagnoses if the tumor all of the following are true except:

a-how to detect and describe the lesion.

b-the features of the benign and malignant lesion.

c-how to manage the tumor and treat it.

d-Which other modalities are available to characterize the lesion and find the extent of the disease.

3-In regard to bone tumors , all are true except :

a-Most bone tumors, both benign and malignant, are radiolucent.

b-Malignant can be primary or secondary.

c-They are uncommon except for secondary deposits in patients with known metastatic disease.

d-Primary malignant tumors are more common than those that are secondary.

4-Indolent lesions are , all except:

a-poorly defined margin.

b-no extension into the soft tissues.

c-no extension across the epiphyseal plate.

d-benign tumors and cysts.

5-A Characteristics of aggressive lesions is:

a-bone destruction and periosteal reaction.

b-no extension into the soft tissues.

c-no extension across the epiphyseal plate.

d-a well-defined margin.

6-Polyarthopathy is found in:

a-trauma.

b-Rheumatoid Arthritis.

c-gout.

d-Septic Arthritis.

7-in Rheumatoid arthritis  all are true except :

a-Errosions occur earlier in the hands than the feet.

b-there is abnormalities of joint alignment.

c-there might be Ulnar deviation.

d-Subluxation of MCP joints.

8-which of the following is a sero negative inflammatory arthropathy:

a-Rieter’s disease.

b-Systemic Sclerosis .

c-Polymyositis.

d-SLE.

9) all of the following can cause periosteal reaction except :

A) osteomylitis

b) osteosarcoma

c) trauma-fractur

d) enchondroma

10) all of the following are mono atheropathy except :

a-gout

b- osteoarthritis

c- trauma

d- dermatomyositis

11) syndesomophytes most likely found in :

a-ankylosing spondylitis

b- SLE

c- osteoarthritis

d-rumotoid arthritis

12-In regards to dislocation and sublaxation which is true :

a- dislocation is a partial sublaxation.

b- dislocation never leads to ligaments damage.

c- sublaxation is a parial dislocation.

d- sublaxation is caused by gradual pressure.

13-In regards to Torus and Greenstick fractures all are true except :

a- Torus is sufficient to break the cortex.

b- Torus produces metaphyseal buckling.

c- Greenstick pentrates one cortex leaving the other intact.

d- Greenstick ramifies within the medullary bone.

14-Stress Fracture is more likely to be seen in :

a- sternum.

b- scapula.

c- clavicle.

d- tibia.

15-All the following can cause pathological fracture except :

a- tumors.

b- blunt truma.

c- infections.

d- inherited bone disorder.

16-Radiograph should include :

a- the most flexable joint.

b- the smallest joint.

c- the nearest joint to the trauma.

d- the largest joint.

17-Regarding the weakest link in adults which is not true :

a- it includes the muscle.

b- it includes the physeal plate.

c- it includes the ligaments.

d- it includes the tendons.

18-In regards tp physeal fracture (Salter-Harris injury) which is not true :

a- SH-I seprates epiphysis from metaphysis.

b- SH-II is the mos common physeal fracture.

c- SH-III extends to the joint .

d- SH-V fracture lines are clear on initial radiographs

19-the most common fracture in children is :

a- greenstick fracture

b- dislocation

c- tours fracture

d- bowing fracture

20- the only way to make a functional &structral image is by :

a- MRI

b- x-ray

c- nuclear midecine

d- CT scan

21-In plain film ,regrading the normal diameter , which is true:

a-Small bowel 5 cm, large bowel 7.5 cm.

b-small bowel 3.5 cm, large bowel 6 cm.

c-small bowel 2.5 cm, large bowel 5 cm.

d-small bowel 4 cm, large bowel 7 cm.

22-Regarding bowel obstruction, all are true except:

a-mechanical obstruction; some parts have peristalsis.

b-mechanical obstruction leads to multiple air fluid level at equal heights.

c-physiological obstruction; aperistalsis.

d-physiological obstruction is a dilation of bowel as reflux of renal and pancreatic disease.

23-all of the following are direct cuases of pneumoperitonium except:

a-peptic ulcer preforation.

b-post laparoscopy.

c-colonic diverticulum perforation.

d-inflammintory bowel disease.

24-generally , the best way to diagnose pnemopertomium ;

a- abdominal x-ray in erect position film.

b- chest X-ray in erect position film.

c- chest x-ray in laying down position film.

d- abdominal x-ray in laying down position film.

25-the best way to take an x-ray for patient in comma:

a- lateral decubites.

b- medial decubites.

c- erect position film.

d-supine position film.

26-regarding the mechanical obstruction , choose the right answer :

a-distention and dilation of lobes are distal to the obstruction.

b-air fluid level will be higher in the dilated lobes.

c-air fluid level will be higher in the contracted lobes.

d-air fluid level will be equal in all lobes.

27-according to the affect of smoking before radiology tests choose the correct answer :

a-nicotine will stimulate the gastric acid secretion.

b-the nicotine will cover the peritoneum and will five a false impression of having mass lesions.

c-the nicotine will increase the concentration of the contrast.

d-the smoking doesn't have any effect of the tests.

28-according to ulcer ,choose the wrong statement :

a-the pt. with duodenal ulcer come with epigastric pain.

b-the contrast of spine position goes to the Antrim.

c-for gastric ulcer ,we need a double contrast of barium meal.

d-the malignant ulcer usually have short irregular ulcer line
